1) KoMNNEeKCcTi MOHHbIH, TY3inyi
1 catbiga: Ag* + NHs = [AgNHs]*

BlT = a(Ag(NH3)/a(Ag+)*a(NH3)

2 caroiza: [AENH3]* +NH3 = [Ag(NH3),]*

82 = a(Ag(NH3)2/a(Ag(NH3)*a(NH3)

¥annbl peakuyua: Ag" + 2NHz =[Ag(NH3),]*

BT)'Kz p1’ *BZT - a(Ag(NH3)2+)/a(Ag+)*a2(NH3)
a=f*C

B K= g1 * 5" = f(AG(NH3)2+)*[ Ag(NH3)2+]/
F(Ag+)[Ag+*F-(NH3)*[NH3]>

B K= BC* f(Ag(NH3)2+)/ f(Ag+)* f2(NH3)

8¢ = 8"K™ f(ag+)* f(NH3)/ FlAg(NH3)2+)
TEPMOANHAMUKAbIK KoHE KOHUEHTPAUUNANDBIK

TYPAKTbI/IbIK KOHCTAHTaNap apacbiHAaa 6annaHbICTbl

KepceTtea,i

2) dwuccoumauma (biabipay)

[Ag(NH3),]* = Ag* + 2NH3 *annbl peakyms
Catblnan

1 catbiga: [Ag(NH3),]* = NHs + Ag(NHs)*
Typakcbi3ablk KoHcTaHTa K1 = [NH3] *[Ag(NHs)*]/
[Ag(NH3),"]

2 catbiga: Ag(NH3)* = Ag+ +NH3



K2 = [Ag+]*[NH3]/[ Ag(NH3)’]
Kyk=K1*K2*...*Kn

3) TypaKbITbINbIK *KaHe TYPAKCbI3AbIK KOHCTAHTaNap
apacbiHAa 6annaHbIC

s1=1/K2; 52=1/K1
|31* 32..* gN = 1/ K1* K2*..*Kn

2) Komnnekcreny pyHkuma — F
F(L) = Cm/ [M]
Cyv=[M]+ [ML]+ [ML2]+..... [MLn];
Cyv=[MHB2 [M]-[L]+B1,2[M]-[L]*+...B1,a[M]-[L]"=

:[M](1+B1-[L]+B1,2-[L]2—|—. . -Bl,n .[L]n);
% = F(L) =1+ B -[L1+ Brp -[L1? + B -[LI" =

n=N
=1+ Z,Bn -[L]1"
n=1

N — MAKCHUMAJIAbl KOOPANHAIIUAIBIK CAH.

Mpeicansl, Ag*+NHz—Ag(NH3)":

5 - [AIINHD'T oo,
[Ag*1-[NH;]

[Ag(NH3)"1= 5 -[Ag"]-[NH;]

Ag++2N HgH[Ag(NH3)2]+

_ [AG(NH3)2"T 14 407
A2 =T ag T INHs T

[Ag(NH3)," 1= A1, - [Ag*1-[NH3]?



Cag=[Ag*]+[Ag(NH3)*T+[Ag(NHz)"1=[Ag*]+B1-[Ag*] [NHs]+B12 [Ag*]- [NHs]*=[Ag*](1+
B1-[NHs]+B12-[NHs]?)

C
Agt

7"

C(AgNO3) = 1M

FL) = —1+ 4y [NHg e o [NHG R

C(NH4ChH=1M
1) pH=1
2) pH9

KOMIUIEKC Ty31JIe Ma HeMece Ty3iiMeit Ma?



